2.2 Add and Subtract

Real Numbers

PRACTICE

Evaluate each expression.
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Circle the correct property.
21 749=9+7 22. 7+9+6=7+15 23. (8+3)+1=8+(3+1)
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24 a+(9+b)=(a+9)+b
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26. 4(2+5) =8+ 20




Find the error.

27. Mr. Kelly refuses to believe that the associative property doesn’t work for subtraction. He works the following
problem to “prove” thatit does work. Heis wrong. Circle the mistake in his “proof”. Correct his “proof” by
showing that both sides are NOT equal to each other.

Evaluate each expression to determine if the answer is a rational number or irrational number.
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